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COMMERCE
[GENERAL]
(Fundamentals of Cost & Management Accounting)
Paper : V
GROUP-III
Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

GROUP-A
ete-5
(Marks : 50)
(N ¢ @o)
1. Answer any four questions: 1x4=4
@-(PIceTl TafB Aeei Teq wis s
a) What is Direct Labour Cost?
AOIF HA-A FICP T2

b) Give two examples of Direct Expenses.

Ao O UL SWRFe Wie |
c) Define Cost.
AT A=l 7S |

[Turn over]

d)

What is Fixed Overhead?

23 Telfqarm Jte

Fill in the gap:

eUrE 9 9 ¢

Maximum Stock Level=Re-order
Quantity+

A TGO BI=7TA @R AR +

What is Overhead?

TAf-rw JFIE A2

Answer any six questions: 2x6=12

@-FI 2= AT TeF nia

a)

b)

d)

30(C)/1

What is Bin Card?

e T e

What is Absorption of Overhead?
Toifaara seRel 6 e

Write any two differences between Fixed
Cost and Variable Cost.

77 9 8 ARSI IR WY @@ g
ML (72

Write down any two objectives of Cost

Accounting.

ARR-fTREw e @@ g S e

4|



e¢) What is allocation of Overhead?
Yol ANfEE 5 FiE e 2

f)  What is Normal Idle Time?
FOIRT ST TR F e

g) What are the different types of Cost
Centre?
AR (e f[fen gaimrensl F Fie

h) What do you mean by Prime Cost?
T AR @00 F @R

3. Answer any four questions: 6x4=24

@I BiEfB a4 Ted wies

a)

b)

30(C)/1

What is idle time and how it affects the

cost of production?

T AN B A @R 37 TOE B
JAE el A2

Calculate Economic Order Quantity from
the following information and number of

orders per annum:

Annual consumption 12,000 units.
Cost per unit Rs.320

Ordering cost per order Rs.400

Carrying cost 20% of the inventory value.

B iesitl

[3] [Turn over]

c) What factors should a Cost Accountant
consider in installing a sound system of
costing in a manufacturing concern?

@I Tesimeial efeit 99 s e qg)
P ?

d) Discuss four differences between
Management Accounting and Cost
Accounting.
sAfpiem oo ¢ R e S
REICIRETASIGITIIE

e) What is Abnormal Idle Time? Give two
examples.

SFIelfRE SR AN e I @R? g6 Twizae
s |

f)  Give specimen forms of Stores Ledger and

Bin Card.
GO @ € R FeT T BF WS |
4. Answer any one question: 10x1=10

@@ @F6 AT TeF 1S

a)
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How would you distinguish between
Financial Accounting and Cost Accounting?

wifds s ¢ sifqaw e Ee T
Feir Pidey Ffm sa@?



b) On the basis of the information given GROUP-B

below in respect of production of a certain Frolt-4

product, prepare a statement of cost and

find out its selling price: (Marks : 50)

Direct Materials - Rs.8,000 (9 2 o)

Direct Wages - Rs.7,000 5.  Answer any four questions: 1x4=4
Direct Expenses - Rs.2,000 @I 516 emim Tex nie:

a)  What is Variance?
@ q Rpfe @i qeie
b) What is Marginal Cost?

Factory Overhead at 40% of Direct Wages.
Office Overhead at 15% of Factory Cost.

Profit at 33%% of cost is required.

Esicikokesitl Afes A FE e

. : . i ing?
¢) Why Cost Accounting is necessary in spite ) What is Process Costing?

of the existence of an elaborate system of afew sifvan ey I e
Financial Accounting? d) What is Standard Cost?
MR ed g A e Sk B T AT IE A

JIFR ARG T o ? _
e) What is meant by By-product?

Tofee 2/ TS JE@RI?
f)  What do you mean by Contract Price?
P& /1 w00 (@RI
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6. Answer any six questions: 2x6=12

- 216 ARE Ted 7ie

a)

b)

c)

d)

g)

h)

30(C)/1

What is Estimated Cost?

SEGR R e

Give any two objectives of Budgeting.
AT AR -] o Sy < |

What is Profit-Volume Ratio?
SR St e

What do you mean by Uncertified Work?

Tgeiie FE e 6 @Rie

What is Budget Mannual?

QST FAREH FIE A 2

What is Break-even Point?

TR A NERr /Y P A2

What is Margin of Safety?

f=isrers S e

What is meant by Retention Money?

@G AN 9L @S [ @RI 2

[7] [Turn over]

7. Answer any four questions: 6x4=24

- o 2eid Ted nie

a)

b)

d)

30(C)/1

From the following data find out (i) Profit-

Volume ratio and (ii) Break-Even Point.
Present Volume of Output- 8,000 units
Present Volume of sales- Rs.80,000
Variable Cost for this output - Rs.48,000
Fixed Cost-
[ZAE 2 w8y (]

What do you mean by Zero-based

Rs.12,000

Budgeting?

“Piefed AEH dEedl FIo [ (@RI2

What is the difference between Normal and

Abnormal Loss of materials?

TeToitaa FreiRE ¢ SFreliRe wfog sy g
ISR

What are the objectives of Budgetary
Control?

Jieeod W g oy e

Calculate Material Cost Variance and
Material Price Variance from the following
data:

[8]
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Standard Quantity 30,000 kg

Standard Price Rs.2 per kg
Actual Quantity 28,000 kg
Actual Price Rs.1.80 per kg

[3<A&l e w8 (]

Fill in the gaps:

eUrE 9 9 ¢

i)  Contract, the price of which is
determined by adding a contractual
profit with the actual cost is known
as
gFe JRF AE pie [ sre @6 F@
@ fosl sitem en Mdife = i

BIGH
i1) In process costing each s a

iii)

cost centre.

dfem dfsaw e smafere afs®
93 s @@ |

Standard Cost of materials minus

actual cost of materials used=

FIHCT AGF 3 [aie w3me
FHIER oPe [ = |

[9] [Turn over]

iv) Budget is always related to

s Al AR 2 |
8. Answer any one question: 10x1=10
TP @FT5 20T Te Me s
a) Discuss the uses of Marginal Costing.
dfes fa Fdem I9ge SiEna 39
b) The following are the particulars in respect
of Contract No.B47 for the year ended
31.12.18. Prepare Contract A/c:
Rs.
Materials sent to site 1,50,000
Wages paid 1,80,000
Wages unpaid 3,000
Other expenses 26,000
Plant sent to site 2,00,000
Materials returned 5,000
Materials not consumed 8,000
Materials stolen 10,000
Insurance claim admitted
for stolen materials 7,000
Work uncertified 11,000
Cash Received 3,60,000
30(C)/1 [10]
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Plant is subject to depreciation @7 % p.a
and cash has been received to the extent
of 90% of the work certified.

[ZAE 2% w8y 1]

Discuss the differences between Marginal

Costing and Absorption Costing.

e «fzam [ omfe 8 eiraed sz
fefa smafea Sy Ny SNETHT 91



